VS&R Training Student Literacy & Numeracy Assessment before forklift training

VS&R Training is required by law to identify people who may require support with literacy & numeracy before they start any high risk work licence training like forklift operation.
In the forklift licence test, there are calculations which must be done without any help, except a calculator. Devices which store information are banned.
	Use the words below to fill in the blanks in the 6 sentences that follow.

	hazard		licenced		horn		logbook	doorways	load guard

	1. The thing that stops the load hitting the mast & the operator is the _______  _________

	2. A forklift driver should blow the _______________ at blind corners.

	3. A _______________ should be kept for each forklift.

	4. Every forklift operator must be _______________ to drive a forklift.

	5. A _______________ is anything that could harm a person.

	6. A forklift should not be parked near _______________.

	Calculations

	
	Answer 
Show all working & correct units

	1. Can a forklift with a Safe Working Load (SWL) of 1580kg legally lift a container weighing 600kg tare weight that has a load of 1100kg inside it?
(Show all working & correct units)

	

	What is the total weight of the product and the pallet of these 2 loads?
	

	2. 50 bags each weighing 20kg on a pallet
The pallet weighs 40kg
(Show all working & correct units)

	

	3. 6 boxes per layer
Each box is 30kg 
4 layers per pallet
The pallet weighs 40kg
(Show all working & correct units)


	



If any of this has caused you issues, contact us for assistance.
